EARAROBREBRT —5 XN—ZXBISH—F 20214E108308 (£) 14EHEE1H

Ul C2-25% C2 HSZ3ISLE BN R
[#&%] 17&:300,000 ™  23#&:90,000H . 37%&:48,000M1 . 437&:24,000 ™  53&:18,000 M
BE\RE FrE R/ I HE %F (T8 4L (B | BEIR | E3F |SIEH | AK | #E | BEE FR) / BE / £ERS
18l TUUTFY RRAT i3 E'?ﬁ;’ﬂ 1:(3_3).2 1-1-1-1 408 — | 1 (4_973) ;igg E®)
RUAVF4—R BAYSRSAN— BRI
i 3 | BWEH 1:33.4  [11-12-11-10{38.3 | — | 3 | 456 |‘IEEZ (5E)
2 g|7U /R ¥53.0 (1 1/8) ¢g) | (B J P NEE}
RiTSATYT— B:UU—RIA) RIER  STHiE
< o o HKIBA : -9-7- - WFEX (E8
N . BIEPZL Uy w3 |k Wy | TP |t ms
Rivraivd B:AVINU—t—3 e AE
YR — 4 3 | AHAEIK 1:33.8 4-4-4-2 | 40.6| — 2 406 |MIHEZ (E8)
4|5|6 | /SRY—D K~ 54.0 () (5 |LEwi
RivELF— B:VE-R e
) 4 3 | IS 1:34.6 7-8-8-9 |40.6| — n 464 | HIES (£8)
51811 XRYF7 54.0 @ o) | EEE—
Rib—trS5— B:Y7HMUNYE— alll &
= > SHHIEE 2 ~5-5- - HIHEe (E&)
1 ; BB VIV 48D 5 T I e PG |emusr
R:TSADVST— B:RI—KRTw b XA FIWT7—L
— b4 | IR 1:35.1 8-7-9-8 |41.0| -— 8 44y | REEX (£H)
717] 9|7V /T35 i a50 o) (9 |TYIVEE @)
RiTF+—TA4FAF—BY B:I9594Y 730 VHERS
3~ e~ = 6 | REECC 1:35.4 5-6-6-7 |42.0| — 5 473 | PEE ()
8 4 I ININ—T 4 " 56.01_ (1172 1) (@) J Pﬁﬁfﬁ
RiIZIELUY N BiLAFIYR BiE B
— N ol : -3-3- - BIIEX (£8)
9|1]1/735hUT—F2 380 A R T |eE
RIRTDT—RVRID—k B:9F/HY wE F=
— o4 S # o4 | REEL 1:35.8 3225 (43.0 — | 4 | 417 |[ShEE=A (£E)
10{7|10| =¥ hONF5 54.0 =8) 1y | oA
RiISADVS— 82y hoYSYy EEE
' — o v 5 | WTHE 1:36.7 12-11-12-11 41.6 | — | 10 | 499 |BIIEX (£E)
15| 5| d7OUY— 72 %60 ©) @n | @ J PN
RIARYPII4—T B TUARTFPIU— =YY I7—1
_ to4 | SEES 1:37.5  |10-10-10-12| 43.0 | — | 12 | 418 |REAX (i#D)
EH 2| I=—=IXA7 # 54.0 0 (3) | PHERE =
RFISANVE BAYSRSAN— J—8YT7—L
@ 11— —&@BIEf:I
13—7F+— 12,1,10,6,4,3,11,9,7,2,8,5
20—F+— 12,10,1,6,3.4,9.11,7,2,5.8
30—+— 12,10,1,6,3,4,7,11,9,2,8,5
43—F— 12,6,7,1,10,3,4,9,11,8,5,2
[ BN
B B 12 210 | [ AR 8-12 290F3 | | #% &= 6-8 560M3 | | 3iE=fE 7-8-12 3,430
B B 12 1304 7-12 90| | & = 8-12 560F3 | | 3:E=E 12-8-7 9,890M
8 130 7-8 90| | B & 12-8 860
7 6504

ABIC OV TRUTEREERRODDZE. THRIIZEL.



